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Q.1 The region enclosed by the parabola y = x2 and the line y = 2x (in square units) is: 

 (a)
2

3
 (b) 

4

3
 (c) 

8

3
 (d) 4 

 

Q.2 The area enclosed by the curve y = cos x, from x = 0 to x = π, is:  

 (a) 2 sq units (b) 4 sq units (c) 3 sq units (d) 1 sq units  

 

Q.3 The area enclosed by the curve   2y 16 x  and the x-axis is: 

 (a) 8 π sq units (b) 20 π sq units (c) 16 sq π units (d) 256 π sq units

  

Q.4 The area enclosed by the ellipse 
2 2

2 2

x y
1

a b
   is equivalent to: 

 (a) π2 ab (b) π ab (c) π a2b (d) π ab2 

 

Q.5 Determine the area of the region (in square units) enclosed by the curve y2=2y-x & y-axis and the 

y-axis. 

 (a) 
8

3
 (b) 

4

3
 (c) 

5

3
 (d) 

2

3
 

 

Q.6 What is the area enclosed by the parabola x2 = y and the line y = 1?  

 (a)  
ଵ

ଷ
 sq units (b) 

ଶ

ଷ
 sq units   (c) 

ସ

ଷ
 sq units (d) 2 sq units  

 

Q.7 The area enclosed by the curve y = x2 and the line y = 16 is: 

 (a) 
ଷଶ

ଷ
 (b) 

ଶ଺ହ

ଷ
 (c) 

଺ସ

ଷ
 (d) 

ଵଶ଼

ଷ
 

 

Q.8 Determine the area enclosed by the curve y = 4x3 within the interval x = [-2, 3].  

 (a) 97 (b) 70 (c) 65 (d) 77 

 

Q.9 The area beneath the curve y = x2 and the lines x = -1, x = 2, and the x-axis is:  

 (a) 3 sq units (b) 5 sq units (c) 7 sq units (d) 9 sq units  

 

EL– I 
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Q.10 The area beneath the curve y = x4 and the lines x = 1, x = 5, and the x-axis is: 

 (a)  
ଷଵଶସ

ଷ
 sq units (b)  

ଷଵଶସ

଻
 sq units (c)  

ଷଵଶସ

ହ
 sq units (d)  

ଷଵଶସ

ଽ
 sq units 

 

Q.11 The integral to determine the area of a circle with radius 'a' is given by: 

 (a)  
b

2 2

a
a x dx   (b)  


2

2 2

0
a x dx  

 (c)   
a

2 2

0
4 a x dx   (d)  

a
2 2

0
a x dx  

 

Q.12 Determine the area enclosed by the curve y = x3, the line x = 2, x = 5, and the x-axis. 

 (a) 173.50 (b) 230.25 (c) 175.35 (d) 152.25  

 

Q.13 The region enclosed by the parabola x = 4 – y2 and the y-axis, measured in square units, is:  

 (a)  
ଶ

ଷଶ
 sq units (b) 

ଷଶ

ଷ
 sq units (c) 

ଷଷ

ଶ
 sq units (d)  None of these 

 

Q.14 The area bounded by the hyperbola xଶ − yଶ = aଶ between the straight-lines x = a and x = 2a is 

(A) 2√3aଶ − aଶlog (2 + √3)  (B) 2aଶ + aଶlog (2 + √3)   

(C) aଶlog (2 + √3) − 2aଶ  (D)  2aଶ + √3aଶlog (2 + √3) 

 

Q.15 The area common to the region determined by y ≥ √x and xଶ + yଶ < 2, in ϐirst quadrant, 

 in square units is   

(A) π     (B) (2π − 1) 

(C) 
஠

ସ
−

ଵ

଺
    (D) (2π + 1) 

 

Q.16 The graph of yଶ + 2xy + 40|x| = 400 divides the plane into the regions. 

 The area of the bounded region is  

(A)400sq. units    (B)800sq. units 

(C)600sq. units    (D)900sq. units 

 

Q.17 The area enclosed by y = x(x − 1)(x − 2) and x-axis, in square units, is 

(A) 
ଵ

ସ
      (B) 

ଷ

ସ
 

(C) 
ଵ

ଶ
      (D) 

ଵ

ଷ
 

 

Q.18 The area bounded by the curves y = sinx and y = cosx between two consecutive points of the 

intersection, in square units, is 

(A) √2     (B) 2√2 

(C) 4√2     (D) 
ଵ

√ଶ
 

 

Q.19 The area bounded by y = sinିଵ x, y = cosିଵ x and the x-axis, in square units, is 

(A) √2     (B) √2 + 1 

(C) √2 − 1    (D) 2√2 

 

Q.20 The area bounded by the loop of the curve 4yଶ = xଶ(4 − xଶ) in square units, is 

(A)
଻

ଷ
      (B) 

଼

ଷ
 

(C)
ଵଵ

ଷ
      (D) 

ଵ଺

ଷ
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Q.21 Area bounded by the curves y = logୣ x and y = (logୣ x)ଶ in square units, is 

(A)e − 2    (B) 3 − e 

(C)e      (D)e − 1  

 

Q.22 The area bounded by the curve f(x) = x + sinx and its inverse function between the ordinates x = 

0 and x = 2π in square units, is 

(A) 4π     (B) 8π 

(C) 4      (D) 8 

 

Q.23 The area bounded by the x-axis, the curve y = f(x) such that f(x) > 0 for xe (1, b) and the lines x 

= 1 x = b is equal to √bଶ + 1 − √2 for all b > 1 then f(x) is 

(A) √x − 1    (B) √x + 1 

(C) √xଶ + 1    (D) 
୶

ඥଵା୶మ
 

 

Q.24 The area bounded by y = −xଶ + 1 and the x-axis is 

(A) 
ଵ

ଷ
      (B) 

ଶ

ଷ
 

(C) 
ସ

ଷ
      (D) 

଼

ଷ
 

 

Q.25 The area bounded by y = xଶ, x + y = 2 is  

(A) 
ଽ

ଶ
      (B) 

ଵହ

ଶ
 

(C) 9      (D) 15 

 

Q.26 The area of the region bounded by y = xଶ and y = 4x, for x between 0 and 1, is equal to 

(A) 2 sq. units    (B) 
ହ

ଷ
 sq. units   

(C) 6sq. units      (D) 1 sq. unit 

 

Q.27 The area of the region in ϐirst quadrant bounded by the curves y = xଷ and y = √x, is equal to 

(A) 
ଵଶ

ହ
 sq. units    (B) 

ହ

ଵଶ
 sq. units 

(C) 
ହ

ଷ
sq. units    (D) 

ଷ

ହ
 sq. units 

 

Q.28 The area of the region bounded by the curve y = xଶ − 2 and line y = 2, is equal to 

(A) 
ଷଶ

ଷ
 sq. unit    (B) 

ଵଽ

ଶ
 sq. unit 

(C) 
ଶଵ

ହ
 sq. unit    (D) 

ଵ଺

ଷ
 sq. unit 

 

Q.29 The area between the curve yଶ = 4x, y-axis, and y = −1 and y = 3 is equal to 

(A) 
଻

ଷ
 sq. units    (B) 

ଽ

ସ
 sq. units 

(C) 
ଵ

ଵଶ
 sq. units    (D) 

ଵ

ସ
 sq. units 

 

Q.30 The common area of the curves y = √x and x = ඥy is equal to 

(A) 3sq. units    (B) 3sq. units 

(C) 
ଵ

ଷ
 sq. units    (D) 

ଶ

ଷ
 sq. units 

 

Q.31 The area of the region bounded by y = |x − 1| and y = 1 is equal to 

(A) 1 sq. unit    (B) 2 sq. units 

(C) 
ଵ

ଶ
 sq. unit    (D) 3 sq. units 
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Q.32 The area of the region bounded by the curve y = xଶ and y = |x| is equal to 

(A) 
ହ

ଷ
 sq. units    (B) 

ଵ

ଷ
 sq. unit 

(C) 
ହ

଺
 sq. units    (D) 

ଵ

଺
 sq. unit 

 

Q.33 The area bounded between curves yଶ = x and y = |x| is 

(A) 
ଵ

ଷ
     (B) 

ଶ

ଷ
 

(C) 1     (D) 
ଵ

଺
 

 

Q.34 The area between the curves y = xଷ and y = x + |x| is equal to 

(A) 0sq. unit    (B) 2sq, units 

(C) 1sq. unit    (D) 3 sq. units 

 

Q.35 The area bounded by the curve y = |x| − 1 and y = −|x| + 1 is 

(A) 1sq. unit    (B) 2 sq. units 

(C) 2√2 sq. units    (D) 4 sq. units 

 

Q.36 For which of the following positive value of m, the area of the region bounded by the curve y =

x − xଶ and the  line y = mx equals 
ଽ

ଶ
 ? 

(A) 3     (B) 1 

(C) 2     (D) 4 

 

Q.37 The area bounded by the curve y = (x − 1)ଶ, y = (x + 1)ଶ and the x-axis is 

(A) 
ଵ

ଷ
     (B) 

ଶ

ଷ
 

(C) 
ସ

ଷ
     (D) 

଼

ଷ
 

 

Q.38 Minimum area of triangle formed by any tangent to the ellipse 
୶మ

ୟమ +
୷మ

ୠమ = 1 with the co-ordinate  

axes is 

(A) 
ୟమାୠమ

ଶ
    (B) 

(ୟାୠ)మ

ଶ
 

(C) ab     (D) 
(ୟିୠ)మ

ଶ
 

 

Q.39 The area enclosed by the curves yଶ = xଷ and |y| = 2x, in square units, is 

(A) 
ଶ

ଷ
     (B) 1 

(C) 4     (D) 
ଷଶ

ହ
 

 

Q.40 The area bounded by curve f(x) = xଷ and g(x) = √x
య

 is (in square units) 

(A) 1     (B) 2 

(C) 3     (D) 4 

 

Q.41 STATEMENT-1: y = f(x), be such that f(x) ≥ 0, for x ∈ (a, b) then area bounded by y = f(x), x = a 

and x = b And 

STATEMENT-2 : The area of curve y = f(x) between ordinates x = a and x = b is න  
ୠ

ୟ

f(x)dx. 

(A) Statement-1 is True, Statement-2 is true; Statement-2 is a correct explanation for 

 Statement-1      

(B) Statement-1 is True, Statement-2 is true; Statement-2 is NOT a correct explanation for Statement-1 

(C) Statement-1 is True, Statement-2 is False 

(D) Statement-1 is False, Statement-2 is true 
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Q.42 STATEMENT-1 : The area bounded by y = |sin x| and x axis in x = 0, x = 2π is 4 sq. units. 

and 

STATEMENT-2: න  
ଶ஠

଴

sin xdx = 0. 

(A) Statement-1 is True, Statement-2 is true; Statement-2 is a correct explanation for 

 Statement-1      

(B) Statement-1 is True, Statement-2 is true; Statement-2 is NOT a correct explanation for 

Statement-1 

(C) Statement-1 is True, Statement-2 is False 

(D) Statement-1 is False, Statement-2 is true 

 

Q.43 STATEMENT-1: The area bounded by y = sin x , y = cos x , x = 0 and x =
஠

ଶ
 is 2൫√2 − 1൯ 

 sq. units. 

And 

STATEMENT-2 : න  
஠/ସ

଴

(cos x − sin x)dx + න  
஠/ଶ

஠/ସ

(sin x − cos x)dx = 2(√2 − 1). 

(A) Statement-1 is True, Statement-2 is true; Statement-2 is a correct explanation for 

       Statement-1      

(B) Statement-1 is True, Statement-2 is true; Statement-2 is NOT a correct explanation for       

       Statement-1 

(C) Statement-1 is True, Statement-2 is False 

(D) Statement-1 is False, Statement-2 is true 

 

Let y = f(x) and y = g(x) be two curves such that f(x) ≥ g(x), ∀x ∈ [a, b] then area bounded by y 

= f(x) and y = g(x) between x = a and x = b lines is ∫  
ୠ

ୟ
(f(x) − g(x))dx sq. units. 

 

Q.44 Area bounded by y = sin x and y = 0, between x = 0 and x = π in square units is equal to 

(A) 1     (B) 2 

(C) π     (D) 2π 

 

Q.45 The area bounded by curves y = xଶ and y = xଷ in square units is 

(A) 
ଵ

ଵଶ
     (B) 

ଵ

଺
 

(C) 
ଵ

ଷ
     (D) 

ଵ

ସ
 

 

Q.46 The area bounded by curves y = xଷ and y = x is 

(A) 
ଵ

ଶ
 sq. units    (B) 

ଵ

ସ
 sq. units 

(C) 
ଵ

଼
 sq. units    (D) 

ଵ

ଵ଺
 sq. units 

 

Q.47 The area bounded by curves y = xଶ and x = yଶ in square units is 

(A) 
ଵ

଼
     (B)  

ଵ

ସ
 

(C) 
ଵ

ଷ
     (D) 

ଵ

଺
 

 

Q.48 The area bounded by curves y = xଶ and y = x଺ in square unit is equal to 

(A) 
଻

ହଷ
     (B)  

ଽ

ସଵ
 

(C) 
ଶ

ଶଵ
     (D) 

଼

ଶଵ
 

 

Q.49 The area bounded by the curve y = sin x, x ∈ [0,2π] and the x-axis, is equal to 

(A) 4 sq. units    (B)  0 sq. unit 

(C) 2 sq. units    (D) 6 sq. units 
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Q.50 The area of the region bounded by the x-axis, the function y = −xଶ + 4x − 8 and the lines 

 x = −1 andx = 4, is equal to 

(A) 31
ଶ

ଷ
 sq. units   (B) 31 sq. units 

(C) 32
ଶ

ଷ
 sq. units   (D) 32 sq. units 

 

Q.51 The area of the region bounded by the curvey = xଶ and y = x is equal to 

(A) 
ଽ

ଶ
 sq. units    (B) 

଻

ଶ
 sq. units 

(C) ቀe −
ଵ

ୣ
ቁ

ଶ

 sq. units   (D) 
ଵ

଺
 sq. units 

 

Q.52 The area of the region bounded by the functionf(x) = xଷ, the x-axis and the lines x = −1 andx =

1 is equal to 

(A) 
ଵ

ସ
 sq. unit    (B) 

ଵ

ଶ
 sq. unit   

(C) 1sq. unit    (D) 
ଵ

଼
 sq. unit 

 

Q.53 The value of ∫  
ଵ଴

ିଵ
f(x)dx, wheref(x) = min{x − [x], −x − [−x]}, where [ ] is G.I.F., is 

(A) 20     (B) 40 

(C) 5     (D) 30 

 

Q.54 The ratio in which the area bounded by the curvesyଶ = 12x and xଶ = 12y is divided by the  

line x = 3, is equal to 

(A) 15: 16    (B) 15: 49 

(C) 1: 2     (D) 15: 29 

 

Q.55 The smaller area bounded by 
୶మ

ଵ଺
+

୷మ

ଽ
= 1 and the line 3x + 4y = 12 is 

(A) 3π sq. units    (B) (3π − 6) sq. units 

(C) (3π − 2) sq. units   (D) (3π − 4) sq. units 

 

Q.56 The area bounded by curve |x| + |y| ≥ 1 andxଶ + yଶ ≤ 1 for x ≥ 0 is 

(A) 2 sq. units    (B) 
஠

ଶ
 sq. units 

(C) 
(஠ିଶ)

ଶ
 sq. units   (D) (π − 2) sq. units 

 

Q.57 Area bounded by the curves y = xଶ − 1, x + y = 3 is 

(A) 
ଽ

ଶ
 sq. units    (B) 4 sq. units 

(C) 
଻√ଵ଻

ଶ
 sq. units   (D) 

ଵ଻√ଵ଻

଺
 sq. units 

 

Q.58 The area of the ϐigure bounded by the parabolay = −xଶ − 4x + 5, and the line tangent to 

 it at the point M(2, −7) and the y-axis is 

(A) 
଼

ଷ
 sq. units    (B) 

ଵହ

଻
 sq. units 

(C) 
ଵ଴

ଷ
 sq. units    (D) 

ଵଷ

ଷ
 sq. units 

 

Q.59 The area of the region enclosed by the curvesy = xlog x and y = 2x − 2xଶ is 

(A) 
଻

ଵଶ
 sq. units    (B) 

ଵ

ଶ
 sq. units  

(C) 
ହ

ଵଶ
 sq. units    (D) 

ଵ

ସ
 sq. units 
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Q.60 If area bounded by the curve x = ayଶ and y = axଶ is 1 sq. unit, then the positive value of a is  

equal to 

(A) 
ଵ

√ଷ
     (B) 

ଵ

ଷ
 

(C) 
ଵ

ଶ
     (D) 3 

 

Q.61 The slope of the tangent to the curve y = f(x) at a point (x, y) is 2x + 1 and the curve passes  

through the point (1,2). The area of the region bounded by the curve, the x-axis and the line  

x = 1 is equal to 

(A) 
ହ

ଷ
 sq. units    (B) 

ହ

଺
 sq. units 

(C) 
଺

ହ
 sq. units    (D) 6 sq. units 

 

Q.62 Area bounded by the curves y = 2୶, y = 2x − xଶ,x = 0 and x = 2 is equal to 

(A) 
ଷ

୪୭୥ ଶ
−

ସ

ଷ
 sq. units   (B) 

ଷ

୪୭୥ ଶ
+

ସ

ଷ
 sq. units 

(C) 3log 2 +
ସ

ଷ
 sq. units   (D) 3log 2 −

ସ

ଷ
 sq. units 

 

Q.63 The parabola yଶ = 4x and xଶ = 4y divide the square region bounded by the lines x = 4 Y = 4 and 

the coordinate axes. If S_{1} S_{2} S_{3} are respectively the areas of these parts numbered from 

top to bottom, then Sଵ: Sଶ: Sଷ is 

(A) 1 : 1 : 1     (B) 2 : 1 : 2 

(C) 1 : 2 : 3     (D) 1 : 2 : 1 
 

Q.64 The area of region bounded by the curves y = a୶(a > 1) and y = bି୶(b >

1) and the straight linex = 1 is 

(A) 
ଵ

୪୭୥ ୟ
(a − 1) +

ଵ

୪୭୥ ୠ
ቀ

ଵ

ୠ
− 1ቁ  sq. units   

(B) log a(a − 1) + log b ቀ
ଵ

ୠ
− 1ቁ  sq. units 

(C) 
ଵ

୪୭୥ ୟ
(a − 1) +

ଵ

୪୭୥ ୠ
(b − 1) sq. units   

(D) log a(a − 1) + log b ⋅ (b − 1) sq. units 
 

Q.65 The area bounded by curvef(x) = ||tan x + cot x|| tan x − cot x ∣  between linesx = 0,  

x =
π

2
 and x-axis, is 

(A) log 4 sq. units   (B) log √2 sq. units 

(C) 2 log4 sq. units   (D) √2log 2 sq. units 
 

Q.66 Area bounded by curves y = [cos A + cos B + cos C],y = ቂ5 sin
୅

ଶ
⋅ sin

୆

ଶ
sin

େ

ଶ
ቃ ; 

where [ ⋅  ] represents greatest integer function and A, B, C are angles of a triangle,  

and the curve y − |x − 4| = 0 is (in square units) 

(A) 5     (B) 3 

(C) 2     (D) 1 
 

Q.67 The area (in sq. units) bounded by the parabolay = xଶ − 1, the tangent at the point 

(2,3) to it and the y-axis is 

(A) 
ଷଶ

ଷ
     (B) 

଼

ଷ
 

(C) 
ହ଺

ଷ
     (D) 

ଵସ

ଷ
 

 

Q.68 The area of the region A = {(x, y): 0 ≤ y ≤ x|x| +  1 and − 1 ≤ x ≤ 1} in sq. units, is 

(A) 2     (B) 
ସ

ଷ
 

(C) 
ଶ

ଷ
      (D) 

ଵ

ଷ
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Q.69 If the area enclosed between the curves y = kxଶ and x = kyଶ, (k > 0), is 1 square unit. Then k is 

(A) √3      (B) 
ଵ

√ଷ
 

(C) 
√ଷ

ଶ
     (D) 

ଶ

√ଷ
 

 

Q.70 The area (in sq. units) of the region bounded by the curve xଶ = 4y and the straight line  

x = 4y − 2 is 

(A) 
଻

଼
     (B) 

ହ

ସ
 

(C) 
ଽ

଼
     (D) 

ଷ

ସ
 

 

Q.71 The area (in sq. units) in the ϐirst quadrant bounded by the parabola, y = xଶ + 1,  

the tangent to it at the point (2,5) and the coordinate axes is 

(A) 
ଵ଼଻

ଶସ
     (B) 

଼

ଷ
 

(C) 
ଵସ

ଷ
     (D) 

ଷ଻

ଶସ
 

 

Q.72 The area (in sq. units) of the region bounded by the parabola, y = xଶ + 2 and the lines, y = x +

1,x = 0 and x = 3, is 

(A) 
ଵହ

ଶ
     (B) 

ଶଵ

ଶ
 

(C) 
ଵହ

ସ
     (D) 

ଵ଻

ସ
 

 

Q.73 The area (in sq. units) of the regionA = {(x, y) ∈ R × R ∣ 0 ≤ x ≤ 3,0 ≤ y ≤ 4, y ≤ xଶ + 3x} is: 

(A) 
ଶ଺

ଷ
     (B) 

ହଽ

଺
 

(C) 8     (D) 
ହଷ

଺
 

 

Q.74 Let S(α) = {(x, y): yଶ ≤ x, 0 ≤ x ≤ α} and A(α) is area of the region S(α). If for aλ, 0 < λ <

4,A(λ): A(4) = 2: 5, then λ equals 

(A) 2 ቀ
ଶ

ହ
ቁ

భ

య
    (B) 2 ቀ

ସ

ଶହ
ቁ

భ

య
 

(C) 4 ቀ
ଶ

ହ
ቁ

భ

 య
    (D) 4 ቀ

ସ

ଶହ
ቁ

భ

య
 

 

Q.75 The area (in sq. units) of the regionA = {(x, y): xଶ ≤ y ≤ x + 2} is 

(A) 
ଷଵ

଺
     (B) 

ଵ଴

ଷ
 

(C) 
ଽ

ଶ
     (D) 

ଵଷ

଺
 

 

Q.76 The area (in sq. units) of the regionA = {(x, y):
୷మ

ଶ
≤ x ≤ y + 4} is 

(A) 18     (B) 16 

(C) 
ହଷ

ଷ
     (D) 30 

 

Q.77 The region represented by |x − y| ≤ 2 and|x + y| ≤ 2 is bounded by a 

(A) Square of side length 2√2 units  

(B) Square of area 16sq. units 

(C) Rhombus of side length 2 units      

(D) Rhombus of area 8√2 sq. units 
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Q.78 The area (in sq. units) of the region bounded by the curves y = 2୶  and  

y = |x + 1|, in the ϐirst quadrant is : 

(A) 
ଷ

ଶ
−

ଵ

୪୭୥౛ ଶ
    (B) 

ଵ

ଶ
 

(C) logୣ 2 +
ଷ

ଶ
    (D) 

ଷ

ଶ
 

 

Q.79 If the area (in sq. units) of the region {(x, y): yଶ ≤ 4x, x + y ≤ 1, x ≥ 0, y ≥ 0} is a√2 + b, thena −

b is equal to 

(A) −
ଶ

ଷ
     (B) 6 

(C) 
ଵ଴

ଷ
     (D) 

଼

ଷ
 

 

Q.80 If the area (in sq. units) bounded by the parabolayଶ = 4λx and the line y = λx, λ > 0, is 
ଵ

ଽ
, then λ is equal to 

(A) 48     (B) 24 

(C) 4√3     (D) 2√6 

 

Q.81 The area of the region, enclosed by the circlexଶ + yଶ =

2 which is not common to the region bounded by the parabola yଶ = x and the straight line  

y = x, is 

(A) 
ଵ

଺
(24π − 1)    (B) 

ଵ

଺
(12π − 1) 

(C) 
ଵ

ଷ
(12π − 1)     (D) 

ଵ

ଷ
(6π − 1) 

 

Q.82 The area (in sq. units) of the region{(x, y) ∈ Rଶ ∣ 4xଶ ≤ y ≤ 8x + 12} is 

(A) 
ଵଶ଼

ଷ
     (B) 

ଵଶହ

ଷ
 

(C) 
ଵଶ଻

ଷ
     (D) 

ଵଶସ

ଷ
 

 

Q.83 For a > 0, let the curves Cଵ: yଶ = ax andCଶ: xଶ =  ay intersect at origin O and a point P. 

 Let the line x = b(0 < b < a) intersect the chordOP and the x-axis at points Q and R,  

respectively. If the line x = b bisects the area bounded by the curves, Cଵ and Cଶ, and  

the area of △ OQR =
1

2
, then ' a ' satisϐies the equation 

(A) x଺ + 6xଷ − 4 = 0   (B) x଺ − 12xଷ − 4 = 0 

(C) x଺ − 6xଷ + 4 = 0   (D) x଺ − 12xଷ + 4 = 0 

 

Q.84 The area (in sq. units) of the region{(x, y) ∈ Rଶ: xଶ ≤ y ≤ 3 − 2x}, is 

(A) 
ଷଵ

ଷ
     (B) 

ଶଽ

ଷ
 

(C) 
ଷସ

ଷ
     (D) 

ଷଶ

ଷ
 

 

Q.85 Given f(x) =

⎩
⎪
⎨

⎪
⎧ x, 0 ≤ x <

ଵ

ଶ
ଵ

ଶ
, x =

ଵ

ଶ

1 − x,
ଵ

ଶ
< x ≤ 1

 

and g(x) = ൬x −
1

2
൰

ଶ

, x ∈ R. Then the area (in sq. units) of the region bounded by the curves, 

y = f(x) and y = g(x) between the lines, 2x = 1 and2x = √3, is 

(A) 
√ଷ

ସ
−

ଵ

ଷ
    (B) 

ଵ

ଷ
+

√ଷ

ସ
 

(C) 
ଵ

ଶ
−

√ଷ

ସ
    (D) 

ଵ

ଶ
+

√ଷ

ସ
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Q.86 Area (in sq. units) of the region outside
|୶|

ଶ
+

|୷|

ଷ
= 1 and inside the ellipse 

୶మ

ସ
+

୷మ

ଽ
= 1 is 

(A) 3(4 − π)    (B) 6(4 − π) 

(C) 6(π − 2)    (D) 3(π − 2) 

 

Q.87 Consider a region R = {(x, y) ∈ Rଶ: xଶ ≤ y ≤ 2x}. if a line  

y = α divides the area of region R into two equal parts, then which of the following is true? 

(A) 3αଶ − 8α + 8 = 0   (B) αଷ − 6αଷ/ଶ − 16 = 0 

(C) 3αଶ − 8αଷ/ଶ + 8 = 0   (D) αଷ − 6αଶ + 16 = 0 

 

Q.88 The area (in sq. units) of the region{(x, y): 0 ≤ y ≤ xଶ + 1,0 ≤ y ≤ x + 1,
ଵ

ଶ
≤ x ≤ 2} is 

(A) 
଻ଽ

ଵ଺
     (B) 

ଶଷ

଺
 

(C) 
଻ଽ

ଶସ
     (D) 

ଶଷ

ଵ଺
 

 

Q.89 The area (in sq. units) of the region A = ൛(x, y): (x − 1)[x] ≤ y ≤ 2√x, 0 ≤ x ≤ 2ൟ, 

 where [t] denotes the greatest integer function, is 

(A) 
଼

ଷ
√2 − 1    (B) 

ସ

ଷ
√2 + 1 

(C) 
଼

ଷ
√2 −

ଵ

ଶ
    (D) 

ସ

ଷ
√2 −

ଵ

ଶ
 

 

Q.90 The area (in sq. units) of the region A = {(x, y): |x| + |y| ≤ 1,2yଶ ≥ |x|} is 

(A) 
ଵ

଺
     (B) 

଻

଺
 

(C) 
ହ

଺
     (D) 

ଵ

ଷ
 

 

Q.91 The area (in sq. units) of the region enclosed by the curves y = xଶ − 1 and y = 1 − xଶ is equal to 

(A) 
଻

ଶ
     (B) 

ସ

ଷ
 

(C) 
଼

ଷ
     (D) 

ଵ଺

ଷ
 

 

Q.92 The area of the region : R = {(x, y): 5xଶ ≤ y ≤ 2xଶ + 9} is 

(A) 6√3 sq. units   (B) 11√3 sq. units 

(C) 12√3 sq. units   (D) 9√3 sq. units 

 

Q.93 The area (in sq. units) of the part of the circlexଶ + yଶ = 36, which is outside the parabolayଶ =

9x, is 

(A) 12π + 3√3    (B) 24π + 3√3 

(C) 12π − 3√3    (D) 24π − 3√3 

 

Q.94 Let Aଵ be the area of the region bounded by the curves  

y = sin x , y = cos x and y-axis in the ϐirst quadrant.  

Also, let Aଶ be the area of the region bounded by the curves y = sin x , y = cos x , x-axis and x =
π

2
 

 in the ϐirst quadrant. Then, 

(A) Aଵ: Aଶ = 1: √2 and Aଵ + Aଶ = 1 (B) Aଵ: Aଶ = 1: 2 and Aଵ + Aଶ = 1  

(C) 2Aଵ = Aଶ and Aଵ + Aଶ = 1 + √2 (D) Aଵ = Aଶ and Aଵ + Aଶ = √2 

 

Q.95 The area bounded by the curve 4yଶ = xଶ(4 − x)(x − 2) is equal to 

(A) 
ଷ஠

଼
     (B) 

ଷ஠

ଶ
  

(C) 
஠

଼
     (D) 

஠

ଵ଺
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Q.96 The area (in sq. units) of the region, given by the set {(x, y) ∈ R × R ∣ x ≥ 0,2xଶ ≤ y ≤ 4 − 2x} is 

(A) 
଼

ଷ
     (B) 

଻

ଷ
 

(C) 
ଵ଻

ଷ
     (D) 

ଵଷ

ଷ
 

 

Q.97 The area of the region bounded by y − x = 2 andxଶ = y is equal to 

(A) 
ଶ

ଷ
     (B) 

ସ

ଷ
 

(C) 
ଵ଺

ଷ
     (D) 

ଽ

ଶ
 

 

Q.98 If the area of the bounded region 

R = {(x, y): max{0, logୣ x} ≤ y ≤ 2୶,
1

2
≤ x ≤ 2} 

is, α(logୣ 2)ିଵ + β(logୣ 2) + γ, then the value of(α + β − 2γ)ଶ is equal to 

(A) 2     (B) 1 

(C) 8     (D) 4 

 

Q.99 The area, enclosed by the curves y = sin x + cos x and y = |cos x − sin x| and the lines x = 0, x =
஠

ଶ
, is 

(A) 4(√2 − 1)    (B) 2√2(√2 + 1) 

(C) 2√2(√2 − 1)    (D) 2(√2 + 1) 

 

Q.100 The area of the region bounded by the parabola(y − 2)ଶ = (x −

1), the tangent to it at the point whose ordinate is 3 and the x-axis is 

(A) 4     (B) 6 

(C) 10     (D) 9 
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Q.1 Find the area between the curve f(x) = 3 + 2x - x2 and the x-axis. 

Q.2 Find the area to the left of g(y) = 3−y2 and to the right of x=−1 

 

For problems 3 – 11, ϐind the area of the region bounded by the provided set of curves. 

Q.3 y = x2 + 2, y = sin(x), x = –1 and x = 2  

Q.4 
,

8
y y 2x and x 4

x
  

  

Q.5 x = 3 + y2, x = 2 – y2 , y = 1 and y = –2  

Q.6 x = y2 – y – 6 and x = 2y + 4  

Q.7 

1
x

2 2y x x 1,y ,x 3 and the y-axis. 


    e
  

Q.8 y = 4x + 3, y = 6 – x – 2x2, x = –4 and x = 2  

Q.9 

21 3
y ,y (x 2) ,x ,x 1

x 2 2
     

   

Q.10 x = y2 + 1, x = 5, y = -3 and y = 3  

Q.11 
1 2y 1 yx e ,x e ,y 2 and y 1     

  

Q.12 Find area bounded by curve y = x, x-axis and x = 1 (using integration). 

Q.13 Find the area bounded by curve yଶ = 4x and its latus rectum. 

Q.14 Find the area bounded by the curve y = xଷ, the x-axis and the ordinates x = −2 and x = 1. 

Q.15 Find the area bounded by the curve y = logୣ x, the x-axis and the straight line x = e. 

Q.16 Find the area bounded by the circle xଶ + yଶ = 16 and the line y = x in the ϐirst quadrant. 

Q.17 AOB is the positive quadrant of the ellipse 
୶మ

ୟమ +
୷మ

ୠమ = 1  

where OA = a, OB = b. Then ϐind the area between the arc AB and the chord AB of the ellipse. 

Q.18 Find area bounded by curve y = xଶ and y = xଷ. 

Q.19 Sketch the graph of y = |x + 3| and evaluate ∫  
଴

ି଺
|x + 3|dx. 

Q.20 The area bounded by the y-axis; y = cos x, y = sin x when 0 ≤ x ≤
஠

ଶ
 is given by 

Q.21 Sketch the curves and identify the region bounded by x =
ଵ

ଶ
, x = 2, y = logୣ x and 

 y = 2୶. Find the area of the region. 

Q.22 Find the area of the region {(x, y): yଶ ≤ 4x, 4xଶ + 4yଶ ≤ 9}.  

EL– II 
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ANSWER KEY – LEVEL – I 

 

Q. 1 2 3 4 5 6 7 8 9 10 

Ans. B A A B B C B A A C 

Q. 11 12 13 14 15 16 17 18 19 20 

Ans. C D B A C B C B C D 

Q. 21 22 23 24 25 26 27 28 29 30 

Ans. B D D C A B B A A C 

Q. 31 32 33 34 35 36 37 38 39 40 

Ans. A B D C B D B C D A 

Q. 41 42 43 44 45 46 47 48 49 50 

Ans. C B A B A A C D A B 

Q. 51 52 53 54 55 56 57 58 59 60 

Ans. D C B A B C C C D D 

Q. 61 62 63 64 65 66 67 68 69 70 

Ans. B C B C B C B A B C 

Q. 71 72 73 74 75 76 77 78 79 80 

Ans. D A B D C A A A B B 

Q. 81 82 83 84 85 86 87 88 89 90 

Ans. B A D D A C C C C C 

Q. 91 92 93 94 95 96 97 98 99 100 

Ans. C C D A B B D A C D 

 

ANSWER KEY – LEVEL – II 

 

Q.1 
ଷଶ

ଷ
 

Q.2 
ଷଶ

ଷ
 

Q.3 8. 04355   

Q.4 6.4548   

Q.5 9  

Q.6 

343

6   

Q.7 

3 3

2 2
7 1

2 10 17.17097
3 3

   e
  

Q.8 

343

12    

Q.9 7.9695   

Q.10 

46

3   

Q.11 22.9983   

 


